ASSEMBLY INSTRUCTION

Maranza side curtain 330cm




REF | PCE PIECE QTY | DIM
E H 2
K 0 1
N 2
Q 2
2 o -— M6*20 B+1
S6 @: M6*25 10+1
S7 S M6*12 18+2
S8 W M6*15 2
T1 F@ Width:4 2
T4 Width:3 2

7




STEP 1
SIER 1




STEP 2
1L S




STEP 3

iy
i

Fo

N

$9. 2




STEP 4

M6*12 S7




STEP 5
SIEF 9

M6*12 S7 (8X)




STEP 6
T T

; L

——
OUTSIDE = =0

> me20 S2(8X) <& M6*15 S8(2X)




STEP 7

R
U

T,




STEP 8
T T

S0

(> M6*25 $6(10X)






